
Appendix 2: Indirect age, sex standarisation of indi-

cators at LSOA level

The indirect age sex standardisation process used to adjust the preventable hospitalisa-
tion and amenable mortality indicators:

adjusted countlsoa = adjusted ratelsoa × populationlsoa (1)

adjusted ratelsoa =
observedlsoa
expectedlsoa

× ratenational (2)

observedlsoa =

sex∑ age∑
eventslsoa,age,sex (3)

expectedlsoa =

sex∑ age∑
expectedlsoa,age,sex (4)

expectedlsoa,age,sex = ratenational,age,sex × populationlsoa,age,sex (5)

ratenational,age,sex =

lsoa∑
eventslsoa,age,sex

lsoa∑
populationlsoa,age,sex

(6)

ratenational =

lsoa∑ sex∑ age∑
eventslsoa,age,sex

lsoa∑ sex∑ age∑
populationlsoa,age,sex

(7)

populationlsoa =

sex∑ age∑
populationlsoa,age,sex (8)
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Figure 1: Preventable hospitalisation per 1,000 populations

Figure 2: Amenable mortality per 1,000 population
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